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30;

60;
1.0/1000. 0;

real dt = 0.05;

real alpha = 1.0/dt;

int nil

int n2

real nu

int timestepmax = 400;
real eps = 0;

string dirname, fname;

border ba(t=0, 1.0) {x=t*10. 0-1.0;y=-1.0; label=1;};
border bb (t=0, 1. 0) {x=9. 0;y=2. 0%t-1.0; labe|=2;};

border bc (t=0, 1. 0) {x=9. 0-10. 0%t;y=1.0; label|=3;};
border bd(t=0,1.0) {x=—1.0;y=1. 0-2. 0xt; labe|=4;};

border cc (t=0, 2xpi) {x=cos (t) *0. 25+0. 75;y=sin(t) *0. 25; labe|=5;} ;
mesh Th=bui |dmesh (ba (n2) +bb (n1) +bc (n2) +bd (n1) +cc (-n1)) ;
plot(Th);

fespace Xh(Th, [P2, P2, P1]);

fespace Vh(Th, P2) ;

fespace Qh(Th, P1);

Xh [ul,u2,p], [v1,v2qal;

Vh upl, up2, w, ww;

Qh pp;

macro d11 (ul) dx (u1)//
macro d22 (u2) dy u2)//



macro d12(ul,u2) (dy(u1) + dx(u2))/2.0//
macro div(ul,u2) (dx(ul1) + dy(u2))//

Qh psi, phi;

func stinflow=y-yxy*xy/3.0;

problem streamlines(psi, phi, solver=UMFPACK) =
int2d (Th) ( dx (psi)*dx (phi) + dy(psi)*dy (phi))
+ int2d (Th) ( phi*(dy (u1)-dx (u2)))
+ on(1,psi=(-2.0/3.0))
+ on(4, psi=stinflow)
+ on(3,psi=(2.0/3.0))
+ on(b, psi=0.0);

streamlines;

plot(psi,wait=1);

problem Stokes ([ul,u2, p], [v1, v2,a], solver=UMFPACK) =
int2d (Th) (+ 2. 0%nu * (d11 (u1)*d11 (v1)+2. 0%d12 (u1, u2) *d12 (v1, v2) +d22 (u2) *d22 (v2) )
-p *div(vl, v2) - q * div(ul, u2))
on(1, 3, u2=0)
on (4,u1=1.0, u2=0)
on (5, u1=0, u2=0) ;

+

+

+

int i;

real D, L;

problem NS ([ul,u2, p], [v1, v2, ql, solver=UMFPACK, init=i) =
int2d (Th) ( alpha * (ul*vl + u2+*v2)
+ 2.0xnu * (d11 (u1)*d11(v1)+2. 0xd12 (ul, u2) *d12 (v1, v2) +d22 (u2) *d22 (v2) )
-p*xdiv(vl, v2) - g * div(ul, u2))



- int2d(Th) ( alpha * (convect ([up1, up2], -dt, up1) *v1
+convect ([up1, up2], -dt, up2) *v2) )

+ on(1, 3, u2=0)

+ on(4,ul1=1.0, u2=0)

+ on (5, u1=0, u2=0) ;

solve Laplace (w, ww)
= int2d (Th) (dx (w) *dx (ww) +dy (w) *dy (ww) )
+on (1, 2, 3, 4, w=0)

+on (b, w=1) ;

int count=0; {
ofstream outputfile ("td1400_"+eps+”. txt”);
dirname = “graph_” + eps;

system(“mkdir “ + dirname) ;

plot (w, wait=1);

real area = int2d(Th) (1.0);

real meanp;

plot (Th, wait=1);

for (i =0; i < timestepmax; i++) |

upl=ut;

up2=u2;
NS;
D=int2d (Th) (//4 73
wx (u1-up1) /dt// (au/at, vD)
+(u1*d11 (u1) +u2*d22 (u1) ) *w//al (u, u, vD)
+2.0%nu * (d11 (u1)*d11 (w)+2. 0%d12 (u1, u2) *dy (w) /2. 0) //a (u, vD)
+dx (w) *p//b (vD, p)



L=int2d (Th) (//#&H
wk (u2-up2) /dt// (au/at, vL)
+(u1*d11 (u2) +u2*d22 (u2) ) *w//al (u, u, vL)
+2.0%nu * (2. 0xd12 (u1, u2) *dx (w) /2. 0+d22 (u2) *d22 (w) ) //a (u, vL)
+dy (W) *p//b (VL, p)
)
meanp = int2d(Th) (p) / area;
outputfile<<dt* (i+1) <" "KLK “<<D<Kend ] ;

if ((+1)%2 == 0){ //10 RF v T EIZHR
/] T7ANEBERDD,
if (count < 10)
fname=dirname+"”/zu00”+count+". ps”;
else if (count < 100)
fname=dirname+”/zu0”+count+". ps”;
else
fname=dirname+”/zu”+count+”. ps”;

count++;

plot ([ul, u2l, p, ps=fname, wait=0, value=true, coef=0. 1%10. 0, cmm="t="+dt* (i+1)) ;

cout<< L="<KLLKL”, D="<<DKKend | ;

BAEFERRE R (ERL7 w7 T DETHRIR)
—— mesh: Nb of Triangles = 2730, Nb of Vertices 1470
—— Solve :
min —0. 666667 max 0.666667

— Solve :



min -1.18517e-37 max 1
exec: mkdir graph_0
mkdir: graph_0: File exists
—— Solve :
min —0.992452 max 204.474
—— Solve :
min -1.5811 max 1.8938
L=-0. 00025072, D=0. 216824
—— Solve :
min —-1.53705 max 1.76828
—— Solve :
min -1.48406 max 1.68932
L=-0. 000641968, D=0. 181965
—— Solve :
min —-1.4492 max 1. 65492
—— Solve :

min -1.41463 max 1. 63089

—
1

0. 105407, D=0. 770457
—— Solve :

min -1.16322 max 1. 64296
—— Solve :

min -1.21008 max 1.59204
0. 157446, D=0. 773372

—
1

—— Solve :
min -1.25264 max 1.6165
—— Solve :
min -1.28751 max 1.61303
L=0. 19537, D=0. 776148
times: compile 0.009568s, execution 113.545s, mpirank:0
HHHtHHI We forget of deleting O Nb pointer, OBytes , mpirank 0, memory leak
=4905664
CodeAlloc : nb ptr 3461, size :381832 mpirank: 0
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